	1							
1	Glasscloth Slip on Skirted Target Face, 48							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	3	EACH	\$15.60	\$46.8	30 USG 1282566		
_								
2	Standard Cedar Arrow, 6 x 12 x 2.25							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	4	DOZEN	\$49.68	\$198.7	⁷ 2 USG 20021106 AVAILABLE 26", 28", 30"		
3	Safety Glass Arrows, 28 (71cm), Each arrow			etch nock vane combina	tion, 72 pack			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	S&S Worldwide	1	PACK	\$133.09	\$133.0	99 ESCALADE W4043		
								-
4	Genesis Compound Bow, Right Hand - Blu	e Raspbe	rry, Item #104	72 - Brennan Industries				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	3	EACH	\$148.92	\$446.7	76 GENESIS 12554854.87		
5	Badminton Shuttlecocks - Carlton AKA T8	800, 5g, M	ledium size, ny	lon, tip must be attached	, Pack of 6			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US					MACGREGOR 1762-WHITE, 176E-		
	Games	50	PACK	\$4.87	\$243.5	50 YELLOW USG PG 248		
6	Badminton Racquet, Twin Shaft Steel, Hi-S	Soft PU gr	rip					
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	School Specialty, Inc.	42	EACH	\$7.31	\$307.0	02 003357		
7	Badminton Rackets - Steel Frame, 26 racket	et, 125 gra	ams, Carlton B	adminton Rackets 313				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US					CARLTON 1376933 120 GRAMS USG PG		
	Games	34	EACH	\$6.52	\$221.6	58 249		
8	Badminton Racquet, Molded Synthetic							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	18	EACH	\$2.11	\$37.9	98 EXACTLY AS SPEC'D 1534		
9	Racquet Caddy, Holds 30 racquest							
•	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US					USG 1297973 PG 249 HOLDS 44		
	Games	1	EACH	\$166.35	\$166.3	5 RACQUETS		

10	Badminton Net, Polyethylene, 21' x 2 1/2' x	3/4 Mesh	1					
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	11	EACH	\$10.48	\$115.28	EXACTLY AS SPEC'D 3466	Macgregor Colle	÷
13	Oversized Mesh Duffle Bag, 24 x 36							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	School Specialty, Inc.	3	EACH	\$4.88	\$14.64	1005614		
14	Mesh Equipment Bag, 32 x 36 w/clipping d	rawstring						
17	Supplier	OTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US	Q.I.	001.1	CHR TTICC	Extended	ж-гр	TYTHIR HILL COLUMN	Transacturer #
	Games	9	EACH	\$2.42	\$21.78	EXACTLY AS SPEC'D 40870		
			2.1011	Ψ21.12	Ψ21170			
15	Portable Ball Cart, Holds 12 Balls							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	2	EACH	\$32.46	\$64.92	EXACTLY AS SPEC'D BCART12W		
16	Oversize Lockable Ball Cart, 60 L x 24 W							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US			****		USG 1237627 PG 279 63L X 24W X 44H		
	Games	1	EACH	\$191.95	\$191.95	60LBS		202009941
17	Lockable Totemaster, Full-Size, 36L x 24W	х 36Н, Т	ough blue i	oowder-coat finish				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	Laux Sporting Goods, Inc	4	EACH	\$209.60	\$838.40	AS SPEC - JAYPRO TE-2		
18	Throw-Down Bases - Heavy-Duty Rubber	Base, Wa	ffled botton	•				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	7	EACH	\$5.44	\$38.08	EXACTLY AS SPEC'D	MacGregor	BBSBBEACY
20	Throw Down Base Set - Orange, Rubber							
20	Supplier Supplier	OTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US	Q.I.	001.1	ome rice	Latenaca	ж-гр	TYTHIR HILL COLUMN	Transition in
	Games	2	SET	\$5.23	\$10.46	EXACTLY AS SPEC'D USG 1235623		
		_		Ψ0.23	Ψ10.10			
21	9 IncrediBall, Cloth-covered baseballs							
-	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	S&S Worldwide	15	EACH	\$4.32	\$64.80	EASTON W3058 SOFTSTITCH	E309	

hysical Ed	ducation Supplies Catalog WFL 202	21-09		9-24-2	2021			
23 Ecc	onomy Fielder's Glove, Fits Right Hand	1 12						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
						FRANKLIN W12777002 (LEFT HAND		
	S&S Worldwide	5	EACH	\$11.37	\$56.85	THROW)		
24 Ecc	onomy Fielder's Glove Adult, Fits Left	Hand 12						
24 ECC	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US	VII	COM	Omt Trice	Extended	Supplier rives	Manufacturer	Manufacturer #
	Games	2	EACH	\$13.28	\$26.56	EXACTLY AS SPEC'D	MacGregor	BBBGVARX
	Cumes	2	LACII	φ13.26	\$20.50	EARCIET AGGILED	Wacdregor	DDDG VAICA
25 Bla	ack Diamond Leather/Synthetic Gloves	- Right Ha	nd Throw, 11	L Glove - Black				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US					MACGREGOR BBMESHXX 12.5" BSN PG		
	Games	10	EACH	\$15.31	\$153.10	69		
26 Bla	ack Diamond Leather/Synthetic Gloves					C I'. N. A.	3.5	7.5
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US	10	E A CIT	017.01	0152.10	MACGREGOR BBMESHRX 12.5" BSN PG		
	Games	10	EACH	\$15.31	\$153.10	69		
27 Inc	crediball Softball 12, Synthetic Cover							
<u> </u>	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	School Specialty, Inc.	15	EACH	\$6.29	\$94.35	008236		
28 Rai	inbow Basketballs, Size 6, Set of 6	OTV	HOM	TI to D. t		Supplier Notes	Mr. C. d.	N/1 C
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	S&S Worldwide	(SET/6	\$22.C2	¢1.41.70	SPECTRUM W11634006 INTERMEDIATE		
	3&3 Worldwide	6	SE1/0	\$23.63	\$141.76	SLECTROW W11034000 INTERMEDIATE		
29 Wo	omen's Basketballs, Spalding, TF1000,	Wide Sean	n, 28.5 (72cm)					
<u> </u>	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	Laux Sporting Goods, Inc	10	EACH	\$46.09	\$460.90	TF1000 CLASSIC (LAUX #SCLASW)		
20 35	I WILL GLOUD FOR THE STATE OF T	T. C	* 6 46)00/ T		• •	
30 Me						2-Ply Nylon Windings and Butyl Rubber Bla Supplier Notes		Manufacturer #
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	S&S Worldwide	10	EACH	\$55.82	\$558.20	SPALDING W10591001 TF1000 CLASSIC		
	Sees worldwide	10	LACII	\$33.62	\$336.20	SIMEDING W10371001 11 1000 CEMBSIC		
31 Jui	nior Basketball, No Substitute, Pro Rub	ber Baske	tball					
<u> </u>	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	S&S Worldwide	5	EACH	\$6.88		W5636003	Mikasa	BX1008
25 15 1	uc. w.t. In a w. c. to	4 7 7	• • • • •			W	,	
35 Ful						ll, bowling mat, easy-carry zippered storage		Manageria
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #

Wayne-Finger Lakes BOCES	REVISED	Effective May 1, 2021 through April 30, 2022
Physical Education Supplies Catalog WFL 2021-09	9-24-2021	

,5.0.		cation supplies catalog W1 2 202	_ 00		5	~			
		BSN Sports, Passon's Sports & US							
		Games	1	SET	\$52.65	\$52.65	US GAMES 1248050 PG 173		
39	Half-0	Cones - Orange, Set of 36							
		Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
		BSN Sports, Passon's Sports & US					USG 1255706 SET OF 36 EXACTLY AS		
		Games	5	SET	\$11.88	\$59.40	SPEC'D		
41	Over/	Under Hurdles, Set of 5							
		Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
		BSN Sports, Passon's Sports & US				Zavenueu	**		
		Games	2	SET/5	\$47.60	\$95.20	EXACTLY AS SPEC'D USG 8806		
		Guines	2	SL1/J	ψτ7.00	\$75.20	EMETET AS SIECE CSG 0000		
42	Cover	r My Class Cone Covers, Numbered 1	- 10 IIS	Games 1086	638 or Equal				
72	COVE	Supplier	OTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
		S&S Worldwide	2	SET	\$6.15		S&S W11907	Manufacturer	Wianulacturer #
		Sees Worldwide	2	SET	\$0.13	\$12.30	1 3003 W 11707		
12	Corre	r My Class Cone Covers, Clear Plastic	Doolrota	Cot of C UC	Comes 1007170 or Fauel				
43	Cover	Supplier	QTY	UOM		E-4d-d	Supplier Notes	Manufaatuuan	Manufactures #
		**	QIY	UUM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
		BSN Sports, Passon's Sports & US	•	arm.	#10.25	000 54	EWA CTLALAG ODECID		
		Games	2	SET	\$10.37	\$20.74	EXACTLY AS SPEC'D		
44	Cone	Quiknets, Includes two steel poles, on					a		
		Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
		BSN Sports, Passon's Sports & US							
		Games	2	SET	\$31.86	\$63.72	EXACTLY AS SPEC'D		
47	Rainb	oow Plastic Cones, 18H, Set/6							
		Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
		BSN Sports, Passon's Sports & US							
		Games	10	Set	\$34.47	\$344.70	USG 1245875 EXACTLY AS SPEC'D		
49	Cone	Sign Holder, US-1281798 or equal							
		Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
		BSN Sports, Passon's Sports & US							
		Games	2	EACH	\$2.04	\$4.08	EXACTLY AS SPEC'D		
				2.1011	Ψ2.01	ψ1.00			
50	Stand	lard Velcro Flag Sets Webbed bolts u	/2 velero	fasteners ac	cent 2 matching flags N - R	inghuckle come	es with 2 flags, (Yellow, Red, Blue, Green), F	ach set contains	1 dz helts and 24
30	Stanu	Supplier	OTY	UOM	Unit Price	Extended	Supplier Notes		Manufacturer #
		ouppiioi	VII	UUM	UIII I I ICE	Extenueu		141anulactul Cl	manufacturer #
		DONI County Daniel Co. 4 O. LIC					USG MSFB PG 221 SET OF 12 BELTS		
		BSN Sports, Passon's Sports & US	2.4	CET	Φ10.7C	0052 44	W/FLAGS COLOR OPTIONS: RED, BLUE	,	
		Games	24	SET	\$10.56	\$253.44	YELLOW		

51	Rainbow Coated Foam Footballs, Size 4							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	9	EACH	\$7.63	\$68.6	7 EXACTLY AS SPEC'D 44095		
52	Poof Foam Football, Junior Size 3 (8 1/2)							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	S&S Worldwide	10	EACH	\$3.32	\$33.20	0 S&S W4914002 YELLOR		
	1							
53	Gripper Ball - Football 10, #1-26357-741							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes		Manufacturer #
	S&S Worldwide	13	EACH	\$11.32	\$147.10	6 W4866001 TIE-DYE	Sportime or equ	a
54	Gripper Football - 7							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	3	EACH	\$8.61	\$25.83	3 EXACTLY AS SPEC'D 80700XXX		
55	Leather Football, Intermediate Size, Rawh	ide Laces						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	16	EACH	\$35.46	\$567.30	6 WILSON 3F1300		
57	O Hala Dira Calf Carra Indudes O of sach	- £ 4h - £-11		Diana Namahamad Elama	Calar and Nam	uh anad Tasa		1
3/	9 Hole Disc Golf Game, Includes 9 of each Supplier	OTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturar	Manufacturer #
	BSN Sports, Passon's Sports & US	119	UOM	Out Frice	Extended	Supplier rotes	Manufacturer	Wianuiacturer #
	Games	3	EACH	\$313.23	\$939.60	9 USG 1251709 PG 194	Sportime	#9-018162
	Games	3	Liteii	ψ313.23	\$757.0) 050 1231/07 10 17 1	Sportime	117-010102
60	Shield Floor Hockey Sticks, 42 L Deluxe W	ood-Shaf	t Set					
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	Laux Sporting Goods, Inc	2	PER SET	\$168.40	\$336.80	0 LAUX #S890		
62	Non-Fogging Super Spec Eye Protector, Yo							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	Laux Sporting Goods, Inc	30	EACH	\$6.67	\$200.10	0 #SUP-Y		
63	Non-Fogging Super Spec Eye Protector, Ac	dult						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US	_						
	Games	20	EACH	\$6.51	\$130.20	0 HEAD IMPULSE 1238983 BSN PG 176		

69	Beaded Skip Rope 9							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	25	EACH	\$0.96	\$24.00	EXACTLY AS SPEC'D USG 1040173		
70	Ultra Beaded Jump Ropes 8'							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US					EXACTLY AS SPEC'D USG 1040166 PG		
	Games	15	EACH	\$0.90	\$13.50) 71		
	In Paris							
71	Ultra Beaded Jump Ropes 16' Supplier	OTV	HOM	TI '. D '		Supplier Notes	N	N f C
		QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US Games	_	EACH	¢1.50	\$7.66) EXACTLY AS SPEC'D	DCM	1040125
	Games	5	EACH	\$1.52	\$7.00) EXACILT AS SPECD	BSN	1040135
72	Jumprope 7' Speed Rope							=
	Supplier	OTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US					**		
	Games	5	EACH	\$0.71	\$3.55	5 EXACTLY AS SPEC'D	BSN	1040050
73	Jumprope 8' Speed Rope							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	5	EACH	\$0.77	\$3.85	5 EXACTLY AS SPEC'D BSN 1040067		
	T							
74	Jumprope 9' Speed Rope	OTN	HOM	TI to Dit		C Nadar	7. C /	34 6 4 11
	Supplier Park Control Mg	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US	-	FACII	¢0.02	¢4.16	EVACTI V AC ODECID DOM 1040074		
	Games	5	EACH	\$0.82	\$4.10	EXACTLY AS SPEC'D BSN 1040074		
79	Rainbow DuraCoat Versa Coated Foam Ba	all 7 Dian	notor Sat of	6 Durable coating livelier	hounce			
1,7	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	S&S Worldwide	10	SET	\$46.43		GATOR SKIN W8909		
				,	•			
80	Dino Skin Ball-7							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	43	EACH	\$6.93	\$297.99	EXACTLY AS SPEC'D	VOIT	4407
81	Gatorskin Ball 7					~		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	S&S Worldwide	10	EACH	\$7.57	\$75.70) GATOR SKIN W8908001 RED, SOFTI		

Hysic	ai Education Supplies Catalog WFL 202	1-09		9-24-2	2021			
82	Micro Gator Ball 5							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US							
	Games	17	EACH	\$3.53	\$60.01	PG 55 VOIT 44075		
83	Fleece Balls 4							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
						S&S W4836 PRICED AS DOZEN, SOLD		
	S&S Worldwide	5	DOZEN	\$32.00	\$160.00	AS SET/6		
85	Rhino Skin Allround Ball, 7 Dia., 6 in a Set					G. W. N.		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US		a	***		NOTE 12 (2552 P.C. 55		
	Games	15	SET	\$39.84	\$597.60	VOIT 1369579 PG 55		
06								
86	Rhino Skin Dodgeball, 6 Dia., 6 in a Set	OTV	HOM	TT .'', D .'	E 41.1	Supplier Notes	Manager	Managara
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US	2	CET	\$27.05	¢55.00	WOLT 1260507 DC 55		
	Games	2	SET	\$27.95	\$33.90	VOIT 1369507 PG 55		
87	Dodgeballs, 7 foam, Set of 6							
07	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US	V	00112	ome i rice	Extended	The second secon	1/11/14/14/14/14/14	1/201101000101
	Games	4	SET	\$39.84	\$159.36	EXACTLY AS SPEC'D VOIT 1369579		
		•	221	φονίο:	\$103.00			
88	Playground Ball 8 1/2, Specify Color							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
						EXACTLY AS SPEC'D 1508 PER DZ RED,		
	BSN Sports, Passon's Sports & US					YELLOW, ORANGE, GREEN, BLUE,		
	Games	18	DOZEN	\$27.24	\$490.32	PURPLE	Voit	
89	Playground Ball 10							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US							
	Games	4	EACH	\$2.92	\$11.68	VOIT 1522 EXACTLY AS SPEC'D		
	Ta							
91	Gator Skin Balls, 8 1/4 - 1/2 Ball	0.000	71077			C. P. N.		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US	1.0	EAGU	40. 55	#0 2 = 0	WOLT 440101		
	Games	10	EACH	\$8.77	\$87.70	VOIT 440101		
-02	Honnity Hong Evens because dute and ball		handla Madia	um (22 24 dia) fau Uz	to 125 lb			
92	Hoppity Hops, Extra-heavy-duty poly ball Supplier	With loop QTY	UOM	` ' '	•	Supplier Notes	Manufactura	Manufactura
	Supplier	YIY	UUM	Unit Price	Extended	Supplier 140tes	wianuiacturer	Manufacturer

•	e-Finger Lakes BOCES al Education Supplies Catalog WFL 202	1-09		REVIS 9-24-2			Effective May 1, 2021 thro	ugh April 30, 2022
	BSN Sports, Passon's Sports & US Games	2	EACH	\$9.66	\$19.	32 USG 1457034 PG 95		
	S	-	Liteii	ψ,	ψ1 <i>)</i>	02 000 1.0700 .110 70		
93	Medium Density Fleece Balls, 4 Diameter,	Rainbow.	Set/6					
	Supplier Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	S&S Worldwide	2	SET/6	\$16.00		00 S&S W4836		
96	Rainbow Coated Foam Balls, 8.25 Dia., Set	:/6						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US	_						
	Games	2	SET	\$52.42	\$104.	84 EXACTLY AS SPEC'D VOI	Г 1236149	
				•				
97	Alphabet Poly Spots, 9 Diameter, set of 26,	US Game	e 20024260 or	Equal				
	Supplier	OTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US					••		
	Games	2	SET	\$74.67	\$149.	34 EXACTLY AS SPEC'D	US Game	20024260
				4,	4-171			
99	Balance Disc, 13.5 diameter, red, Ultrafit C	TY91-078	or equal					
	Supplier	OTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US					**		
	Games	2	EACH	\$13.97	\$27.9	94 CAN DO 1377189 PG 148	Ultrafit	GY91-078
				422.5	4=1			
100	Skill Spots - 9, Set of 6 includes one of each	color:. B	lue, Green, O	range, Purple, Red and Yo	ellow			
100	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US				237027404	**		
	Games	2	SET	\$4.68	\$9	36 USG 1309973 PG 81		
		_	221	\$1100	Ψ,			
102	Rainbow Rubber Rings, heavy-duty rubbe	r constru	ction. Set of 6	includes 1 of each Rainbo	w color			
102	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US	Ų.I.	001.1	C III T T ICC	Latenaca	~ Брин - 1.0112	172unuiuctui Ci	Transacturer ii
	Games	3	SET	\$12.15	\$36.	45 USG 1039948 PG 101		
	Games	3	SEI	Ψ12.13	ψ30.	15 050 10577 1010 101		
103	Numbered 9 Vinyl Spots, firmly grip floor	surfaces s	is targets has	es station markers and n	ore Numbers	1-10		
103	Supplier Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US	Q11	3011	OIII TICC	Extended	~apprer 110tes	Manufacture	π π
	Games	2	SET	\$28.31	\$56	62 EXACTLY AS SPEC'D USG	6060 PG 80	
	Games	2	SE I	φ20.31	\$30.0	OZ EMICIET NO SIECE USO	00001000	
105	The Spooner Balance Fun Board, Set of 6							
103	Supplier Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturor	Manufacturer #
	BSN Sports, Passon's Sports & US	VII	UOM	Omt Pitte	LAUGHUCU	Supplier Frotes	ivianuiaciulei	ivianuiactui ei #
	Don Sports, Passon's Sports & US			****		EVA CELVA C CRECIP 1242		

\$186.73

Extended

Unit Price

\$373.46 EXACTLY AS SPEC'D 1342666

Manufacturer Manufacturer #

Supplier Notes

Games

Supplier

2

106 Rainbow Eggs Spoon Set, 6 Painted Eggs and 6 Wooden Spoons

SET/6

QTY UOM

mysicai La	acation supplies catalog W12 202	- 05		3212	.021			
	BSN Sports, Passon's Sports & US Games	2	SET	\$10.38	\$20.76	EXACTLY AS SPEC'D 777		
107 Bal	ance Feathers, Peacock Balance Feathe	rs. Per Do	ozen					
107 2	Supplier	_	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US			14.18	141.8			
	Games			14.10	141.0	EXACTLY AS SPEC'D 15116		
108 Kat	tch-A-Basket, Set of 6, US Games #1375	5105 or ea	ual					
100	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US					••		
	Games	2	SET	\$36.92	\$73.84	EXACTLY AS SPEC'D	US Games	#1375105
109 Jug	ggling Scarves, 15 square, nylon scarves		****			G. P. N.	75	
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US		DOZENI	Ф2.22	#10.00	EVACELVAC ODECID 120/250		
	Games	6	DOZEN	\$3.33	\$19.98	EXACTLY AS SPEC'D 1206258		
110 Rai	inbow Catch A Cup Set, Set/6, Gopher 4	41-726 or	egual					
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	S&S Worldwide	3	Each	\$6.67		SPECTURM W10052		
111 Rai	inbow Polyster/Cotton Bean Bags, 5, set							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US		~~~	0.7.40	***	HIGG 1202410 BG 102		
	Games	4	SET	\$5.10	\$20.40	USG 1293418 PG 103		
112 Rai	inbow SoftTail, Set of 6 Rainbow mesh	covered fo	oam balls, with	1 36 nylon tails, Gopher 5	8-490 or Equal			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	2	SET/6	\$16.11	\$32.22	USG 1389879 PG 101	Gopher	58-490
113 Tug	g of War Rope, 50'					G. W. N.		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US	2	EAGH	#20.56	Ф 77. 10	FWACTIN ACCRECID 1040000		
	Games	2	EACH	\$38.56	\$77.12	EXACTLY AS SPEC'D 1040968		
114 Pus	sh-Up Trainer Mat, 30 1/2W x 19 3/4D							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	Games	4	EACH	\$26.86		USG 1267167 PG 141		
116 Pin	gpong Paddle 5 Ply Rubberfaced							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #

	er Lakes BOCES cation Supplies Catalog WFL 202	1-09		REVIS 9-24-2		Effective	e May 1, 2021 thro	ugh April 30, 2022
	BSN Sports, Passon's Sports & US Games	32	EACH	\$1.37	\$13.81	EXACTLY AS SPEC'D USG 426		
	Games	32	LACII	ψ1.37	ψτ3.0τ	EXMCTET NO SI EC D COG 420		
119 Spin	Jammer Flying Disc Standard 9							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	3	EACH	\$2.54	\$7.62	EXACTLY AS SPEC'D 1781		
Lan In .		1.0		1 0 2 2 1 1 1 2 1 4				
120 Rain	bow Coated Foam Disc, Set of 6 includ Supplier	es 1 of ea	Ch Rainbow UOM			Supplier Notes	Manufaatuway	Manufacturer #
	BSN Sports, Passon's Sports & US	QIY	UUM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	Games	3	SET	\$18.85	\$56.55	VOIT 1092455 8.5 DIAM USG PG 193		
	Guines	3	JL1	Ψ10.03	ψ30.33	VOIT 1072 133 0.3 BIRWI COOT G 173		
122 Rain	bow FitPro Classic Mesh Vests Set, Set	t of 6 stan	dard polves	ster mesh suitable for med-i	ntensity use, Size	e Medium, colors: purple, blue, green, y	vellow, orange red	
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes		Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	3	SET	\$8.76	\$26.28	USG C46 PG 125 SET OF 6		
123 Rain	bow FitPro Classic Mesh Vests Set, Set	t of 6, sta	ndard polye	ster mesh suitable for med-	intensity use, Siz	e Large, colors: purple, blue, green, ye	llow. orange red	
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	3	SET	\$8.76	\$26.28	USG C46 PG 126 SET OF 6		
124 D.II.	M. A. P. II. D. II D. III.							
124 Dille	r Master Pickle Ball Paddle Supplier	OTV	HOM	TT .'', D .'	F 4 1 . 1	Supplier Notes	Manager 24	Manufacturer #
		QTY	UOM	Unit Price	Extended	PICKLEBALL DILLER 1450225 USG		Manufacturer #
	BSN Sports, Passon's Sports & US Games	18	EACH	\$10.11	\$181.98		ru	
	Games	10	LACII	φ10.11	\$101.90	103		
125 Rain	bow Nylon Wovern Lanyards, Set incl	udes 1 ea	ch Red. Ora	nge, Yellow, Green, Blue, a	nd Purple, Set/6			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	1	SET	\$2.52	\$2.52	EXACTLY AS SPEC'D 1392970		
126 Ballo	ons, 9 Round, 144/pk							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	S&S Worldwide	2	PACK	\$6.34	\$12.68	S&S GA36		
128 Foldi	ing Mats 5' X 10', 2' Panel, Specify Col		TION	** * * * * *		C. P. N.	35 0 /	35 0
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US	2	EACH	0101.07	02.62.=0	USG 1041965 PG 272 1 3/8" FOAM		
	Games	2	EACH	\$181.35	\$362.70	ROYAL BLUE ONLY		

Supplier Notes

Extended

Manufacturer Manufacturer #

129 Screamin' Orange Agility Ladder, features tough polyethylene webbing and 21 flat plastic rungs, 29'6L x 17W,

UOM

Unit Price

QTY

Supplier

Wayne-Finger Lakes BOCES	REVISED
Physical Education Supplies Catalog WFL 2021-09	9-24-2021

Effective May 1, 2021 through April 30, 2022 BSN Sports, Passon's Sports & US Games **EACH** \$29.48 \$29.48 USG 1271560 PG 147 30'L X 20"W 130 10 Pack of Orange 4 Steps, US Games 1292633, Supplier **UOM Supplier Notes** Manufacturer Manufacturer # **Unit Price Extended** BSN Sports, Passon's Sports & US Games 10/PACK \$159.40 \$318.80 EXACTLY AS SPEC'D 131 Multi-Domes, Jr Size, 8' Diameter x 4 High, Set of 6: Includes 1 each - Blue, Green, Orange, Purple, Red and Yellow, US Games 1375104 or equal Supplier OTY **UOM Supplier Notes Unit Price** Extended Manufacturer Manufacturer # BSN Sports, Passon's Sports & US 2 \$45.18 \$90.36 EXACTLY AS SPEC'D Games SET/6 **US** Games 1375104 132 Crawl Tunnel, Height 2 ft Length 9 ft Width 2 ft, Heavy duty, brightly colored, no bottom, nylon mesh panel for visibility, Includes 4 PVC Cross Connectors QTY **UOM Supplier Notes** Manufacturer Manufacturer # **Unit Price Extended** BSN Sports, Passon's Sports & US EXACTLY AS SPEC'D USG 1041330 PG \$220.66 \$220.66 79 Each 133 Rainbow Super Set Rubber Rings, Set of 36 has 6 of each color 6 dia, Set/36 **Supplier** OTY **Supplier Notes UOM Unit Price** Extended Manufacturer Manufacturer # BSN Sports, Passon's Sports & US Games **SET** \$36.45 \$72.90 USG 1039948 PG 49 SET OF 36 134 Hoops - Heavy Duty Deluxe, 36, Latex Free, Dozen **Supplier UOM** OTY **Supplier Notes Unit Price** Extended Manufacturer Manufacturer # BSN Sports, Passon's Sports & US \$82.68 EXACTLY AS SPEC'D 1064926 Games **DOZEN** \$41.34 135 24 Standard Hoops, Set of 12 2 -Each Blue, Green, Orange, Purple. Red, Yellow Supplier **OTY Supplier Notes UOM Unit Price** Manufacturer Manufacturer # Extended BSN Sports, Passon's Sports & US Games **SET** \$19.84 \$19.84 EXACTLY AS SPEC'D 1246087 136 Hula 137 Delu

136	Hula I	Hoops, Premium Rainbow- No Kink 30), Set of	12					
		Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
		School Specialty, Inc.	2	DOZEN	\$37.25	\$74.50			
137	Deluxe	e Scooter Boards 16 x 16, w/Hand Gua	rds						
		Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
							SPECTURM W6972 COLORS: BLUE,		
							GREEN, ORANGE, PURPLE, RED,		
		S&S Worldwide	5	EACH	\$9.85	\$49.25	YELLOW		
138	Safety	Guard Scooters, 12 L x 12 WÂ x 1 thi	ck hea	vy duty plastic bo	ard, Feat. Safety hand	d guards with no	on marring, double ball-bearing swivel casto	ers, Various color	S
				<u> </u>					

•	lucation Supplies Catalog WFL 202	21_00		9-24-2	021	Lifective	ividy 1, 2021 till of	ugii Apili 30, 202
Filysical Eu		1-09		5-24-2	.021			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US			4	***			
	Games	11	EACH	\$7.72	\$84.92	2 EXACTLY AS SPEC'D USG 734		
139 Nyl	lon Covered Bean Bags, 5, Set/12							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	2	SET	\$5.10	\$10.20	EXACTLY AS SPEC'D 1293418		
143 Bea	anbag Frogs, Set of 6							
110	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	S&S Worldwide	4	SET	\$11.94		5 S&S W10274	US-1064254	
145 Bea	ach Ball 12 Diameter							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	S&S Worldwide	1	DOZEN	\$6.13	\$6.13	3 S&S SL975		
146 Foa	am Balls - 6							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	S&S Worldwide	10	EACH	\$2.16	\$21.60	S&S W2340 UNCOATED		
147 Ko	osh Ball 3 1/2							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	S&S Worldwide	5	EACH	\$1.11	\$5.55	5 S&S W11972		
148 Ka	n-Jam Game Set, Set includes 1 flying d	lisc, Â 2 sc	coring contain	ners and rules				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	8	SET	\$45.56	\$364.48	3 SAUCER SLAM 1367801 USG PG 100		
T T								
149 Bul	ll's Eye Toss Games, 5'W x 4'L Matt wit					G P N A		3.5
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US	•	arm.	0.42.02	#0 7 0	4 HGC 105(1(1 DC 100		
	Games	2	SET	\$43.92	\$87.84	4 USG 1256161 PG 102		
150 Bag						bility using the built-in carrying handle.		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	2	EACH	\$79.96	\$159.92	2 EXACTLY AS SPEC'D 1269000		
152 Soc	ccer Ball, Felt Cover - INDOOR, Officia							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	20	EACH	\$8.14	\$162.80	EXACTLY AS SPEC'D VOIT 1447		

153	Brine Evolution Soccer Ball, Size 5							
135	Supplier	OTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	Pyramid School Products	18	EACH	\$14.25		BRINE SBEV06	Gopher	61-565
	13.41.110 2.511001.11044610	10	Ericii	Ψ11.23	Ψ230.30		Gopher	01 303
154	Brine Soccer Ball - INDOOR							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US					MACGREGOR EUROFELT MCSFELT5		
	Games	7	EACH	\$7.93	\$55.51	USG PG 226		
155	Soccer Ball-Size 5							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	20	EACH	\$3.84	\$76.80	EXACTLY AS SPEC'D VOIT 1435		
15/ 1	Compally Laborated Company 120	01T ?		H C' . 5				
156	Soccer Balls- Indoor, Mac Gregor World C Supplier	OTY	or Soccer Ba UOM		E-tonded	Supplier Notes	Manufacturer	Manufacturer #
		QII	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US Games	0	EACH	\$7.02	¢(2.44	EVACTIVAS SDECID MOSEELTS		
	Games	8	EACH	\$7.93	\$03.44	EXACTLY AS SPEC'D MCSFELT5		
157	Mylec Folding PVC Goal, 54W x 44H x 24I). 7 lb 4 o	z Cool w/N	ot.				
137	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	S&S Worldwide	8	EACH	\$32.72	\$261.76		Manufacturer	Manufacturer #
	2000 11 2000 11 2000		2.1011	<i>\$22.72</i>	Ψ=011,			
158	Speed Stacks, Stacking Cups - 12/SET, Spe	cify Colo	·					
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
						EXACTLY AS SPEC'D 1276459 BLUE,		
	BSN Sports, Passon's Sports & US					GREEN, PINK, PURPLE, ORANGE, RED		
	Games	10	SET	\$15.82	\$158.20	OR YELLOW		
161	Stiga Prestige Table Tennis Table, has 1 To			•	•			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	2	EACH	\$533.46	\$1,066.92	2 STIGA STS185 1375127 USG PG 188		
160	ALLE AD (ATT)							
162	Adult Tennis Raquet (27 L)	OTV	HOM	II .'. D .'	F 4 1. 1	Cumplion Notes	Managaran	Manager 4
	Supplier DEN Sports Dessay's Sports & US	QTY	UOM	Unit Price	Extended	Supplier Notes EVACTIVAS SPECID MACCRECOR	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US	26	EACH	¢12.17	¢420-12	EXACTLY AS SPEC'D MACGREGOR		
	Games	36	EACH	\$12.17	\$438.12	2 1393401		
163	Volleyballs							
105	Supplier	OTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	Pyramid School Products	15	EACH	\$24.50		TACHIKARA SV5WS	Tachikara	SV5W
	1 Jimina Delicor i roducio	15	LITCH	ψ2π.50	Ψ307.30		Tuchikara	51311

Physical Education Supplies Catalog WFL 2021-09

Supplier BSN Sports, Passon's Sports & US Games 12 EACH	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
Games 12 EACH Compact Electric Inflator 1/12 HP Supplier QTY UOM			••		
Supplier QTY UOM BSN Sports, Passon's Sports & US Games 1 EACH 166 Mat Tape 3 X 84' Supplier QTY UOM BSN Sports, Passon's Sports & US Games 10 EACH 167 Floor Tape 2 X 60 Yds., Specify Color Supplier QTY UOM BSN Sports, Passon's Sports & US Games 16 EACH 168 Floor Tape 1 X 60 Yds., Specify Color Supplier QTY UOM S&S Worldwide 16 PER ROL 169 5-Gallon Containers with Carrying Handle, Durable Plastic Supplier QTY UOM Pyramid School Products 2 EACH 170 Compact Electric Inflator 1/12 HP Supplier QTY UOM BSN Sports, Passon's Sports & US Games 1 EACH 171 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH	\$21.12	\$253.44	EXACTLY AS SPEC'D 20011575	Tachikara	SV-MN
BSN Sports, Passon's Sports & US Games 1 EACH 166 Mat Tape 3 X 84' Supplier QTY UOM BSN Sports, Passon's Sports & US Games 10 EACH 167 Floor Tape 2 X 60 Yds., Specify Color Supplier QTY UOM BSN Sports, Passon's Sports & US Games 16 EACH 168 Floor Tape 1 X 60 Yds., Specify Color Supplier QTY UOM S&S Worldwide 16 PER ROL 169 5-Gallon Containers with Carrying Handle, Durable Plastic Supplier QTY UOM Pyramid School Products 2 EACH 170 Compact Electric Inflator 1/12 HP Supplier QTY UOM BSN Sports, Passon's Sports & US Games 1 EACH 171 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH 172 RightStep Pedometers, RightStep 300, measures steps, distance.					
Games 1 EACH 166 Mat Tape 3 X 84'	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
166 Mat Tape 3 X 84' Supplier QTY UOM BSN Sports, Passon's Sports & US Games 10 EACH 167 Floor Tape 2 X 60 Yds., Specify Color Supplier QTY UOM BSN Sports, Passon's Sports & US Games 16 EACH 168 Floor Tape 1 X 60 Yds., Specify Color Supplier QTY UOM S&S Worldwide 16 PER ROI 169 5-Gallon Containers with Carrying Handle, Durable Plastic Supplier QTY UOM Pyramid School Products 2 EACH 170 Compact Electric Inflator 1/12 HP Supplier QTY UOM BSN Sports, Passon's Sports & US Games 1 EACH 173 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH					
Supplier BSN Sports, Passon's Sports & US Games 10 EACH 167 Floor Tape 2 X 60 Yds., Specify Color Supplier Supplier OTY UOM BSN Sports, Passon's Sports & US Games 16 EACH 168 Floor Tape 1 X 60 Yds., Specify Color Supplier OTY UOM S&S Worldwide 16 PER ROL 169 5-Gallon Containers with Carrying Handle, Durable Plastic Supplier OTY UOM Pyramid School Products 2 EACH 170 Compact Electric Inflator 1/12 HP Supplier OTY UOM BSN Sports, Passon's Sports & US Games 1 EACH 173 Medicine Ball 6-7 lbs. Supplier OTY UOM School Specialty, Inc. 2 EACH	\$31.39	\$31.39	EXACTLY AS SPEC'D TAPEMAC		
BSN Sports, Passon's Sports & US Games 10 EACH 167 Floor Tape 2 X 60 Yds., Specify Color Supplier QTY UOM BSN Sports, Passon's Sports & US Games 16 EACH 168 Floor Tape 1 X 60 Yds., Specify Color Supplier QTY UOM S&S Worldwide 16 PER ROL 169 5-Gallon Containers with Carrying Handle, Durable Plastic Supplier QTY UOM Pyramid School Products 2 EACH 170 Compact Electric Inflator 1/12 HP Supplier QTY UOM BSN Sports, Passon's Sports & US Games 1 EACH 173 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH					
Games 10 EACH Floor Tape 2 X 60 Yds., Specify Color Supplier QTY UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
167 Floor Tape 2 X 60 Yds., Specify Color Supplier QTY UOM BSN Sports, Passon's Sports & US Games 16 EACH 168 Floor Tape 1 X 60 Yds., Specify Color Supplier QTY UOM S&S Worldwide 16 PER ROL 169 5-Gallon Containers with Carrying Handle, Durable Plastic Supplier QTY UOM Pyramid School Products 2 EACH 170 Compact Electric Inflator 1/12 HP Supplier QTY UOM BSN Sports, Passon's Sports & US Games 1 EACH 173 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH					
Supplier QTY UOM BSN Sports, Passon's Sports & US Games 16 EACH 168 Floor Tape 1 X 60 Yds., Specify Color Supplier QTY UOM S&S Worldwide 16 PER ROI 169 5-Gallon Containers with Carrying Handle, Durable Plastic Supplier QTY UOM Pyramid School Products 2 EACH 170 Compact Electric Inflator 1/12 HP Supplier QTY UOM BSN Sports, Passon's Sports & US Games 1 EACH 173 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH	\$4.13	\$41.30	EXACTLY AS SPEC'D 6411XXXX		
BSN Sports, Passon's Sports & US Games 16 EACH 168 Floor Tape 1 X 60 Yds., Specify Color Supplier QTY UOM S&S Worldwide 16 PER ROL 169 5-Gallon Containers with Carrying Handle, Durable Plastic Supplier QTY UOM Pyramid School Products 2 EACH 170 Compact Electric Inflator 1/12 HP Supplier QTY UOM BSN Sports, Passon's Sports & US Games 1 EACH 173 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH					
Games 16 EACH 168 Floor Tape 1 X 60 Yds., Specify Color Supplier QTY UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
Games 16 EACH 168 Floor Tape 1 X 60 Yds., Specify Color Supplier QTY UOM			EXACTLY AS SPEC'D 2164 BLACK,		
Supplier QTY UOM			WHITE, BLUE, GREEN, PURPLE, RED,		
Supplier QTY UOM S&S Worldwide 16 PER ROL 169 5-Gallon Containers with Carrying Handle, Durable Plastic Supplier QTY UOM Pyramid School Products 2 EACH 170 Compact Electric Inflator 1/12 HP Supplier QTY UOM BSN Sports, Passon's Sports & US Games 1 EACH 173 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH	\$3.78	\$60.48	3 GOLD, ORANGE		
S&S Worldwide 16 PER ROL 169 5-Gallon Containers with Carrying Handle, Durable Plastic Supplier QTY UOM Pyramid School Products 2 EACH 170 Compact Electric Inflator 1/12 HP Supplier QTY UOM BSN Sports, Passon's Sports & US Games 1 EACH 173 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH					
169 5-Gallon Containers with Carrying Handle, Durable Plastic Supplier QTY UOM Pyramid School Products 2 EACH 170 Compact Electric Inflator 1/12 HP Supplier QTY UOM BSN Sports, Passon's Sports & US Games 1 EACH 173 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
169 5-Gallon Containers with Carrying Handle, Durable Plastic Supplier QTY UOM Pyramid School Products 2 EACH 170 Compact Electric Inflator 1/12 HP Supplier QTY UOM BSN Sports, Passon's Sports & US Games 1 EACH 173 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH			S&S W4539 COLORS: BLACK, WHITE,		
Supplier Pyramid School Products 2 EACH 170 Compact Electric Inflator 1/12 HP Supplier Supplier QTY UOM BSN Sports, Passon's Sports & US Games 1 EACH 173 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH	L \$2.01	\$32.16	5 BLUE, GREEN, RED, YELLOW		
Pyramid School Products 2 EACH 170 Compact Electric Inflator 1/12 HP Supplier QTY UOM BSN Sports, Passon's Sports & US Games 1 EACH 173 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH 176 RightStep Pedometers, RightStep 300, measures steps, distance.					
170 Compact Electric Inflator 1/12 HP Supplier QTY UOM BSN Sports, Passon's Sports & US Games 1 EACH 173 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH 176 RightStep Pedometers, RightStep 300, measures steps, distance.	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
Supplier BSN Sports, Passon's Sports & US Games 1 EACH 173 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH 176 RightStep Pedometers, RightStep 300, measures steps, distance.	\$12.50	\$25.00) CHAMPION BUC6		
BSN Sports, Passon's Sports & US Games 1 EACH 173 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH 176 RightStep Pedometers, RightStep 300, measures steps, distance.					
Games 1 EACH 173 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH 176 RightStep Pedometers, RightStep 300, measures steps, distance.	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
173 Medicine Ball 6-7 lbs. Supplier QTY UOM School Specialty, Inc. 2 EACH 176 RightStep Pedometers, RightStep 300, measures steps, distance.					
Supplier QTY UOM School Specialty, Inc. 2 EACH 176 RightStep Pedometers, RightStep 300, measures steps, distance.	\$55.76	\$55.76	5 USG 1539 PG 287	Champion	EP110 (c110)
School Specialty, Inc. 2 EACH 176 RightStep Pedometers, RightStep 300, measures steps, distance.					
176 RightStep Pedometers, RightStep 300, measures steps, distance.	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
	\$12.04	\$24.08	3 1017767		
Supplier OTY UOM	and calories, 76-022- Gop	oher			
**	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
BSN Sports, Passon's Sports & US Games 6 EACH	\$8.61		5 EKHO 1277234 USG PG 136		

REVISED	
9-24-2021	

.,	В В							
177 Ste	p Pedometers, Simple easy to read LED	display.,	15/pk					
-	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US							
	Games	13	PACK	\$95.10	\$1,236.3	30 EKHO 1277210 USG PG 136		
178 Plai	in Yoga Mats, Colors may vary							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US							
	Games	16	EACH	\$6.10	\$97.6	60 EXACTLY AS SPEC'D 1240146		
181 Rob	bic Stopwatch, Unlimited split times, 1/2	100 secon	d resolution to 3	0 minutes, 1st 2nd pla	ce finish times,	Time-out (pause) timing, Time, calendar,	alarm	
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US							
	Games	8	EACH	\$6.96	\$55.6	68 MARKL 106L 1269062 USG PG 289		
182 Acr	me Whistle							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US							
	Games	10	DOZEN	\$15.14	\$151.4	40 EXACTLY AS SPEC'D 773062		
183 Fox	x 40 Classic Pealess Poly Whistles, Rain							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	Laux Sporting Goods, Inc	14	PER SET	\$17.58	\$246.1	12 AS SPEC LAUX #FOX 40-6		
184 Fox	x Classic Mini Whistle, State Color							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	Laux Sporting Goods, Inc	10	EACH	\$2.71		10 AS SPEC		
185 Fox	x 40 Mini Gym Whistle, Assorted Color	s-State Co	olor					
•	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	Laux Sporting Goods, Inc	10	EACH	\$2.71	\$27.1	10 AS SPEC		
186 Elec	ectronic Whistle, 3 tones							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	Pyramid School Products	13	EACH	\$12.95	\$168.3	35 ULTRAK EW1	SPALDING	
187 Pin	gpong Paddle 5 Ply Rubberfaced							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US							
	_		EAGII	ф1 27	0574	A EVACTIVAC CRECID 400		
	Games	42	EACH	\$1.37	\$37.3	54 EXACTLY AS SPEC'D 426		
	Games	42	EACH	\$1.37	\$37.3	54 EXACILY AS SPECD 420		
192 Gri	ipper Flying Disk - 9	42	EACH	\$1.37	\$37.2	54 EAACILY AS SPEC D 420		

Wayne-Finger Lakes BOCES
Physical Education Supplies Catalog WFL 2021-09

REVISED 9-24-2021 Effective May 1, 2021 through April 30, 2022

BSN Sports, Passon's Sports & US				
Games	20	EACH	\$8.58	\$171.60 EXACTLY AS SPEC'D 20010900

iysical Euu	ication supplies catalog WFL 202	T-03		9-24-2	1021			
193 Spin	Jammer Flying Disc Standard 9							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US							
	Games	20	EACH	\$2.54	\$50.8	80 EXACTLY AS SPEC'D 1781		
194 Rain	bow Coated Foam Disc, Set of 6 include	des 1 of ea	nch Rainbow	color, 9¾ dia x 1¼ thick, S	et/6			
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US							
	Games	5	SET	\$18.85	\$94.2	25 VOIT 1092455 8.5" DIA USG PG 193		
195 End	Zone Ultimate Disc, 12 dia, 175 g disc					g . W . W		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US					ULTIMATE FRISBEE 1268942 175 G,		
	Games	1	EACH	\$6.38	\$6.3	38 10.5" DIA		
200 Rain					•	ze Medium, colors: purple, blue, green, yello		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
	BSN Sports, Passon's Sports & US							
	Games	53	SET	\$8.76	\$464.2	28 USG C46 PG 125		
201 D.:-	han EtDus Classis Mash Vasta Cat. Ca			-4	:	in I am and an annual blue and an		
201 Rain	Supplier	OTY	UOM	Unit Price	Extended	ize Large, colors: purple, blue, green, yellow Supplier Notes	Manufacturer	Manufacturor
	BSN Sports, Passon's Sports & US	QII	COM	Unit Frice	Extended	Supplier rives	Manufacturer	Manufacturer
	Games	36	SET	\$8.76	\$215.3	36 USG C46 PG 125		
	Gumes	30	SEI	\$6.70	ψ313	000001010125		
203 Dille	er Master Pickle Ball Paddle							
•	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US	_				PICKLEBALL DILLER 1450225 USG PG		
	Games	36	EACH	\$10.11	\$363.9	96 185		
204 Dille	er Pickle Ball Paddle							
-	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US							
	Games	33	EACH	\$10.11	\$333.6	53 EXACTLY AS SPEC'D 1450225		
205 Rain	bow Nylon Wovern Lanyards, Set inc	ludes 1 ea	ch Red, Ora	nge, Yellow, Green, Blue, a	nd Purple, Set	/6		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
	Laux Sporting Goods, Inc	10	SET	\$2.09	\$20.9	00 CHAMPION #126B-6		
208 Ballo	oons, 9 Round, 144/pk					G. W. N.		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
	S&S Worldwide	3	PACK	\$6.34	\$19.0)2 S&S GA36		

ysicai Euu	cation supplies catalog WFL 202	11-09		9-24-2	.021			
210 Foldi	ng Mats 5' X 10', 2' Panel, Specify Co	olor						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US					USG 1041965 PG 272 1 3/8" FOAM		
	Games	2	EACH	\$181.35	\$362.7	0 ROYAL BLUE ONLY		
14 Multi	i-Domes, Jr Size, 8' Diameter x 4 High	h, Set of 6	: Includes 1 e	ach - Blue, Green, Orange,	, Purple, Red aı	nd Yellow, US Games 1375104 or equal		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US							
	Games	4	SET/6	\$45.18	\$180.7	2 EXACTLY AS SPEC'D	US Games	1375104
5 Craw	vl Tunnel, Height 2 ft Length 9 ft Wid	th 2 ft, He	eavy duty, bri	ightly colored, no bottom, i	nylon mesh pan	el for visibility, Includes 4 PVC Cross Co	nnectors	
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US					USG 1041330 PG 79 EXACTLY AS		
	Games	1	Each	\$220.66	\$220.6	6 SPEC'D		
17 Raint	bow Super Set Rubber Rings, Set of 3	6 has 6 of	each color 6	dia, Set/36				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US							
	Games	3	SET	\$36.45	\$109.3	5 USG 1039948 PG 149 SET OF 36		
18 Raink	bow Super Set Rubber Rings, Set of 6	has 1 of e	each color 6 d	lia, Set/36				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer :
	BSN Sports, Passon's Sports & US							
	Games	2	SET	\$36.45	\$72.9	0 USG 1039948 PG 149 SET OF 36		
20 Hoola	a Hoop Storage Bag 30							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	S&S Worldwide	1	EACH	\$6.96	\$6.9	6 S&S W10347		
22 Hoop	os - Heavy Duty Deluxe, 36, Latex Fre	e, Dozen						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US							
	Games	4	DOZEN	\$41.34	\$165.3	6 EXACTLY AS SPEC'D		
23 24 Sta	andard Hoops, Set of 12 2 -Each Blue	, Green, C	Orange, Purpl	le. Red, Yellow				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US							
	Games	2	SET	\$19.84	\$39.6	8 EXACTLY AS SPEC'D 1246087		
25 Hula	Hoops, Premium Rainbow- No Kink	30, Set of	12					
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	School Specialty, Inc.	7	DOZEN	\$37.25	\$260.7	5 1321059		

Physical Education Supplies Catalog WFL 2021-09

				n, Red and Yellow, 8 H x				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
	S&S Worldwide	14	SET	\$17.02	\$238.2	28 SPECTRUM W7485		
32 La	tex Free Beachball 16							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
	BSN Sports, Passon's Sports & US							
	Games	10	EACH	\$1.37	\$13.7	70 EXACTLY AS SPEC'D 2450		
234 Ste	ep'n Stilts - 4 7/8H, Adjustable strong ro	pe hand c	ords, 2/Pair					
•	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
	BSN Sports, Passon's Sports & US							
	Games	14	PAIR	\$6.49	\$90.8	36 USG 96722 PG 97		
237 Mu	ulti-Domes Full Size Set, 10 diam x 5 H o	can be fille	ed with water	or sand, Will hold any di	ameter hoop, 5	pole slots, Set of 6 Blue, Green, Or	ange, Purple, Red, Yellow	
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
	BSN Sports, Passon's Sports & US							
	Games	2	SET	\$68.64	\$137.2	28 EXACTLY AS SPEC'D 66530		
238 Mu	ulti-Domes Junior Size Set, 8 diam x 4 H	can be fil	lled with wate	r or sand, Will hold any o	diameter hoop, 5	5 pole slots, Set of 6 Blue, Green, C	Prange, Purple, Red, Yellow	
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
	BSN Sports, Passon's Sports & US							
	BSN Sports, Passon's Sports & US Games	2	SET	\$45.18	\$90.3	66 EXACTLY AS SPEC'D 1375104		
242 Mı		_		·				
242 Mu	Games	_		·				Manufacture
242 Mu	Games ulti-Dome Arch Gates, Set of 6 Blue, Gro	een, Oran	ge, Purple, Re	d Yellow, Soft durable	hoop material, *	Requires 2 Multi-Dome Item # 19	34 or 1935 for set up	Manufacturei
242 Mu	Games ulti-Dome Arch Gates, Set of 6 Blue, Gro Supplier	een, Oran	ge, Purple, Re	d Yellow, Soft durable	hoop material, * Extended	Requires 2 Multi-Dome Item # 19	34 or 1935 for set up	Manufacture
•	Games ulti-Dome Arch Gates, Set of 6 Blue, Gre Supplier BSN Sports, Passon's Sports & US	een, Oran QTY	ge, Purple, Re UOM	d Yellow, Soft durable Unit Price	hoop material, * Extended	Requires 2 Multi-Dome Item # 19 Supplier Notes	34 or 1935 for set up	Manufacturer
•	Games ulti-Dome Arch Gates, Set of 6 Blue, Gre Supplier BSN Sports, Passon's Sports & US Games	een, Oran QTY	ge, Purple, Re UOM	d Yellow, Soft durable Unit Price	hoop material, * Extended	Requires 2 Multi-Dome Item # 19 Supplier Notes	34 or 1935 for set up	
•	Games ulti-Dome Arch Gates, Set of 6 Blue, Gro Supplier BSN Sports, Passon's Sports & US Games ower Cross Challenge, 10' L x 30 W, Roc	een, Oran QTY 2 k wall floo	ge, Purple, Re UOM or mat, Gray,	Unit Price \$37.73 Yellow, Red, Blue	hoop material, * Extended \$75.4	Requires 2 Multi-Dome Item # 19 Supplier Notes 46 EXACTLY AS SPEC'D 106633	34 or 1935 for set up Manufacturer	
•	Games ulti-Dome Arch Gates, Set of 6 Blue, Gro Supplier BSN Sports, Passon's Sports & US Games ower Cross Challenge, 10' L x 30 W, Roc Supplier	een, Oran QTY 2 k wall floo	ge, Purple, Re UOM or mat, Gray,	Unit Price \$37.73 Yellow, Red, Blue	hoop material, * Extended \$75.4 Extended	Requires 2 Multi-Dome Item # 19 Supplier Notes 46 EXACTLY AS SPEC'D 106633	Manufacturer Manufacturer	
243 Po	Games ulti-Dome Arch Gates, Set of 6 Blue, Gro Supplier BSN Sports, Passon's Sports & US Games ower Cross Challenge, 10' L x 30 W, Roc Supplier BSN Sports, Passon's Sports & US Games	een, Oran QTY 2 k wall floo QTY	ge, Purple, Re UOM or mat, Gray, UOM EACH	Unit Price \$37.73 Yellow, Red, Blue Unit Price \$115.81	hoop material, * Extended \$75.4 Extended \$115.8	Requires 2 Multi-Dome Item # 19 Supplier Notes 6 EXACTLY AS SPEC'D 106633 Supplier Notes 81 EXACTLY AS SPEC'D 1363735	Manufacturer Manufacturer	
243 Po	Games ulti-Dome Arch Gates, Set of 6 Blue, Gro Supplier BSN Sports, Passon's Sports & US Games ower Cross Challenge, 10' L x 30 W, Roc Supplier BSN Sports, Passon's Sports & US Games fety Guard Scooters, 12 L x 12 W x 1 thi	een, Oran QTY 2 k wall floo QTY 1	ge, Purple, Re UOM or mat, Gray, UOM EACH	Unit Price \$37.73 Yellow, Red, Blue Unit Price \$115.81	hoop material, * Extended \$75.4 Extended \$115.8	Requires 2 Multi-Dome Item # 19 Supplier Notes 6 EXACTLY AS SPEC'D 106633 Supplier Notes 81 EXACTLY AS SPEC'D 1363735 marring, double ball-bearing swin	Manufacturer Manufacturer Manufacturer Manufacturer	Manufacture
243 Po	Games ulti-Dome Arch Gates, Set of 6 Blue, Gro Supplier BSN Sports, Passon's Sports & US Games ower Cross Challenge, 10' L x 30 W, Roc Supplier BSN Sports, Passon's Sports & US Games flety Guard Scooters, 12 L x 12 W x 1 thi Supplier	een, Oran QTY 2 k wall floo QTY	ge, Purple, Re UOM or mat, Gray, UOM EACH	Unit Price \$37.73 Yellow, Red, Blue Unit Price \$115.81	hoop material, * Extended \$75.4 Extended \$115.8	Requires 2 Multi-Dome Item # 19 Supplier Notes 6 EXACTLY AS SPEC'D 106633 Supplier Notes 81 EXACTLY AS SPEC'D 1363735	Manufacturer Manufacturer	Manufacture
243 Po	Games ulti-Dome Arch Gates, Set of 6 Blue, Gro Supplier BSN Sports, Passon's Sports & US Games ower Cross Challenge, 10' L x 30 W, Roc Supplier BSN Sports, Passon's Sports & US Games fety Guard Scooters, 12 L x 12 W x 1 thi	een, Oran QTY 2 k wall floo QTY 1	ge, Purple, Re UOM or mat, Gray, UOM EACH	Unit Price \$37.73 Yellow, Red, Blue Unit Price \$115.81	hoop material, * Extended \$75.4 Extended \$115.8 guards with non Extended	Requires 2 Multi-Dome Item # 19 Supplier Notes 6 EXACTLY AS SPEC'D 106633 Supplier Notes 81 EXACTLY AS SPEC'D 1363735 marring, double ball-bearing swin	Manufacturer Manufacturer Manufacturer vel casters, Various colors Manufacturer	Manufacture
243 Po	Games ulti-Dome Arch Gates, Set of 6 Blue, Gro Supplier BSN Sports, Passon's Sports & US Games ower Cross Challenge, 10' L x 30 W, Roc Supplier BSN Sports, Passon's Sports & US Games fety Guard Scooters, 12 L x 12 W x 1 thi Supplier BSN Sports, Passon's Sports & US Games	een, Oran QTY 2 k wall floo QTY 1 ick heavy QTY 10	ge, Purple, Re UOM or mat, Gray, UOM EACH duty plastic b UOM EACH	Vellow, Soft durable of Unit Price \$37.73 Yellow, Red, Blue Unit Price \$115.81 Doard, Feat. Safety hand of Unit Price \$7.72	hoop material, * Extended \$75.4 Extended \$115.8 guards with non Extended \$77.2	Requires 2 Multi-Dome Item # 19 Supplier Notes 6 EXACTLY AS SPEC'D 106633 Supplier Notes 6 EXACTLY AS SPEC'D 1363735 6 marring, double ball-bearing swire Supplier Notes 6 EXACTLY AS SPEC'D USG 734	Manufacturer Manufacturer Manufacturer vel casters, Various colors Manufacturer	Manufacture
243 Po	Games ulti-Dome Arch Gates, Set of 6 Blue, Gro Supplier BSN Sports, Passon's Sports & US Games ower Cross Challenge, 10' L x 30 W, Roc Supplier BSN Sports, Passon's Sports & US Games fety Guard Scooters, 12 L x 12 W x 1 thi Supplier BSN Sports, Passon's Sports & US Games ackMat With Competition Timer, stacki	een, Oran QTY 2 k wall floo QTY 1 ick heavy QTY 10 ng surface	ge, Purple, Re UOM or mat, Gray, UOM EACH duty plastic b UOM EACH	Solution of the state of the st	hoop material, * Extended \$75.4 Extended \$115.8 guards with non Extended \$77.2	Requires 2 Multi-Dome Item # 19 Supplier Notes 6 EXACTLY AS SPEC'D 106633 Supplier Notes 6 EXACTLY AS SPEC'D 1363735 6 marring, double ball-bearing swire Supplier Notes 60 EXACTLY AS SPEC'D USG 734 8	Manufacturer Manufacturer Manufacturer vel casters, Various colors Manufacturer	Manufacturer Manufacturer
243 Po	Games ulti-Dome Arch Gates, Set of 6 Blue, Gro Supplier BSN Sports, Passon's Sports & US Games ower Cross Challenge, 10' L x 30 W, Roc Supplier BSN Sports, Passon's Sports & US Games fety Guard Scooters, 12 L x 12 W x 1 thi Supplier BSN Sports, Passon's Sports & US Games	een, Oran QTY 2 k wall floo QTY 1 ick heavy QTY 10	ge, Purple, Re UOM or mat, Gray, UOM EACH duty plastic b UOM EACH	Vellow, Soft durable of Unit Price \$37.73 Yellow, Red, Blue Unit Price \$115.81 Doard, Feat. Safety hand of Unit Price \$7.72	hoop material, * Extended \$75.4 Extended \$115.8 guards with non Extended \$77.2	Requires 2 Multi-Dome Item # 19 Supplier Notes 6 EXACTLY AS SPEC'D 106633 Supplier Notes 6 EXACTLY AS SPEC'D 1363735 6 marring, double ball-bearing swire Supplier Notes 6 EXACTLY AS SPEC'D USG 734	Manufacturer Manufacturer Manufacturer vel casters, Various colors Manufacturer	Manufacturer Manufacturer

9-24-2021

252 Mes	sh Scrimmage Vest - Youth, Nylon, Spe	cify Colo	r					
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer :
	BSN Sports, Passon's Sports & US	_						
	Games	40	EACH	\$1.34	\$53.6	0 USG C46Y PG 125		
254 Del	luxe Scooter Boards 16 x 16, w/Hand Gu	ıards						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	S&S Worldwide	10	EACH	\$9.85	\$98.5	0 SPECTRUM W6972		
257 Safe	Tety Indoor/Outdoor Golf Balls							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	School Specialty, Inc.	4	DOZEN	\$10.34	\$41.3	6 024444		
258 9 H	Tole Disc Golf Game, Includes 9 of each	of the foll	lowing: Tagets, 1	Discs, Numbered Flags	, Stakes and Nur	nbered Tees		
•	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US							
	Games	2	EACH	\$313.23	\$626.4	6 USG 1251708 PG 194	Sportime	#9-018162
250 Wh	nam O 3 Disc Golf Set							
259 Wh	Supplier	QTY	UOM	Hait Daire	Extended	Supplier Notes	Manufacturar	Manufacturer
	School Specialty, Inc.	QII		Unit Price		• •	Manufacturer	Manufacturer 4
	School Specialty, Inc.	1	SET	\$14.95	\$14.9	5 021522		
260 9 H				(3 ea. 40 center height,	3 ea. 52, center l	neight, 3 ea. 64 center height), 9 ea. 90G disc		
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US							
	Games	2	SET	\$313.23	\$626.4	6 EXACTLY AS SPEC'D 1251708	Wolverine Sport	s#GA540M
265 Foa	am Floor Hockey Set, 42 L, Set/12 playe	r						
•	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US							
	Games	2	SET	\$82.20	\$164.4	0 USG 1162011 PG 241	Gopher	#10-809
266 Shie	teld Floor Hockey Sticks, 42 L Deluxe W					C. P. N.		7.7
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	School Specialty, Inc.	1	PER SET	\$20.83	\$20.8	3 033019		
269 My	vlec Folding PVC Goal, Pair of goals w/n	net						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
	BSN Sports, Passon's Sports & US					EXACTLY AS SPEC'D 1065336 PG 243		
	Games	2	PAIR	\$98.82	\$197.6	4 44" X 54" X 24" PRICED PER PAIR		
270 Non	n-Fogging Super Spec Eye Protector, Yo	outh						
_, 0	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer
		•						
	Laux Sporting Goods, Inc	30	EACH	\$6.67	\$200.1	0 #SUP-Y		

271 No	n-Fogging Super Spec Eye Protector, Ac	dult						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	30	EACH	\$6.51	\$195.3	0 HEAD IMPULSE 1238983 BSN PG 176		
281 Bea	aded Skip Rope 9							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	10	EACH	\$0.96	\$9.6	60 EXACTLY AS SPEC'D 1040173		
282 Ult	ra Beaded Jump Ropes 8'							
202	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US					**		
	Games	16	EACH	\$0.90	\$14.4	0 EXACTLY AS SPEC'D 1040166		
				V	•			
283 Ult	ra Beaded Jump Ropes 16'							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US			4. 70	***	A FILL COLL A CONFICIE	D. 63. I	4040425
	Games	17	EACH	\$1.52	\$25.8	4 EXACTLY AS SPEC'D	BSN	1040135
284 Jur	mprope 7' Speed Rope							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	10	EACH	\$0.71	\$7.1	0 EXACTLY AS SPEC'D	BSN	1040050
285 Jui	mprope 8' Speed Rope							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US	_						
	Games	22	EACH	\$0.77	\$16.9	4 EXACTLY AS SPEC'D 1040067		
286 Jui	mprope 9' Speed Rope	OTV	HOM	TI .'4 D.'.	T. 4 J. J	Supplier Notes	Manuelantan	M 6
	Supplier	QTY	UOM	Unit Price	Extended		Manufacturer	Manufacturer #
	Games	10	EACH	\$0.82	\$8.2	20 EXACTLY AS SPEC'D 1040074		
287 10'	Speed Ropes, #BS 1040081							
•	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	6	EACH	\$0.91	\$5.4	6 EXACTLY AS SPEC'D		
289 Seg	gmented Skip Ropes 6'							
207 508	Supplier Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US	~	0.0.11	Ome I lice	Latended	x x		
	Games	5	EACH	\$0.95	\$4.7	75 EXACTLY AS SPEC'D 1040142		
			Literi	ψ0.73	ΨΤ./			

Supplier	290 S	egmented Skip Ropes, 7 Feet							
Some			QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
295 Sacer Ball, Felt Cover - INDOOR, Official Size Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US 6 EACH S.1.4 \$48.84 EXACTLY AS SPECTD VOIT 1447		BSN Sports, Passon's Sports & US							
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer		Games	5	EACH	\$1.13	\$5.6	5 EXACTLY AS SPEC'D 1040159		
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer									
BSN Sports, Plasson's Sports & US Games Games BSN Sports, Plasson's Sports & US Games BSN Sports, Plasson's Sports & US Games	295 S								
296 Brine Evolution Soccer Ball, Size 5 Supplier QTV UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer Manufacturer Manufacturer Pyramid School Products 10 EACH State			QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
296 Brine Evolution Soccer Ball. Size 5 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer M		BSN Sports, Passon's Sports & US							
Supplier Pyramid School Products 10 EACH S14.25 Extended Supplier Notes Manufacturer Gopher 61-565 297 Brine Soccer Ball - INDOOR Supplier Pyramid School Products 30 EACH S14.25 S42.50 BRINE SBEV06 Manufacturer Gopher 61-565 300 Gripper Ball, 8 Soccerball Supplier Supplier Supplier Supplier Supplier OTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH S11.28 S22.56 EXACTLY AS SPECD 80801 W7732002 301 Gator Skin Soccer Ball Supplier Supplier OTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH S9.51 S19.02 VOIT 44017 USG PG 228 302 Gripper Soccer Ball - 10 Supplier OTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 5 EACH S13.11 S65.55 EXACTLY AS SPECD 80800 308 Mylee Folding PVC Goal, 54W x 44H x 24D; 71b 4 oz, Goal w/Net Supplier OTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 5 EACH S13.11 S65.55 EXACTLY AS SPECD 80800 308 Mylee Folding PVC Goal, 54W x 44H x 24D; 71b 4 oz, Goal w/Net Supplier OTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 FACTL S49.41 S98.82 EXACTLY AS SPECD 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier OTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games Wanufacturer Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games Manufacturer Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games Manufacturer Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games Manufacturer		Games	6	EACH	\$8.14	\$48.8	4 EXACTLY AS SPEC'D VOIT 1447		
Supplier Pyramid School Products 10 EACH S14.25 Extended Supplier Notes Manufacturer Gopher 61-565 297 Brine Soccer Ball - INDOOR Supplier Pyramid School Products 30 EACH S14.25 S42.50 BRINE SBEV06 Manufacturer Gopher 61-565 300 Gripper Ball, 8 Soccerball Supplier Supplier Supplier Supplier Supplier OTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH S11.28 S22.56 EXACTLY AS SPECD 80801 W7732002 301 Gator Skin Soccer Ball Supplier Supplier OTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH S9.51 S19.02 VOIT 44017 USG PG 228 302 Gripper Soccer Ball - 10 Supplier OTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 5 EACH S13.11 S65.55 EXACTLY AS SPECD 80800 308 Mylee Folding PVC Goal, 54W x 44H x 24D; 71b 4 oz, Goal w/Net Supplier OTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 5 EACH S13.11 S65.55 EXACTLY AS SPECD 80800 308 Mylee Folding PVC Goal, 54W x 44H x 24D; 71b 4 oz, Goal w/Net Supplier OTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 FACTL S49.41 S98.82 EXACTLY AS SPECD 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier OTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games Wanufacturer Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games Manufacturer Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games Manufacturer Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games Manufacturer									
Pyramid School Products 10 EACH \$14.25 \$142.50 BRINE SBEV06 Gopher 61-565	296 B						G. W. W.		
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer							• •		
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer Pyramid School Products 30 EACH \$14.25 \$427.50 BRINE SBEVOCT605 300 Gripper Ball, 8 Soccerball Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$11.28 \$22.56 EXACTLY AS SPECD 80801 W7732002 301 Gator Skin Soccer Ball Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$9.51 \$19.02 VOIT 44017 USG PG 228 302 Gripper Soccer Ball - 10 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 5 EACH \$13.11 \$65.55 EXACTLY AS SPECD 80800 308 Mylec Folding PVC Goal, 54W x 44H x 24D; 7 lb 4 \(\pi_2\), Goal w/Net Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$9.31 \$98.82 EXACTLY AS SPECD 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$9.941 \$98.82 EXACTLY AS SPECD 1065336		Pyramid School Products	10	EACH	\$14.25	\$142.50	0 BRINE SBEV06	Gopher	61-565
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer Pyramid School Products 30 EACH \$14.25 \$427.50 BRINE SBEVOCT605 300 Gripper Ball, 8 Soccerball Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$11.28 \$22.56 EXACTLY AS SPECD 80801 W7732002 301 Gator Skin Soccer Ball Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$9.51 \$19.02 VOIT 44017 USG PG 228 302 Gripper Soccer Ball - 10 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 5 EACH \$13.11 \$65.55 EXACTLY AS SPECD 80800 308 Mylec Folding PVC Goal, 54W x 44H x 24D; 7 lb 4 \(\pi_2\), Goal w/Net Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$9.31 \$98.82 EXACTLY AS SPECD 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$9.941 \$98.82 EXACTLY AS SPECD 1065336	207 D	Casaa Dall INDOOD							
Pyramid School Products 30 EACH \$14.25 \$427.50 BRINE SBEVOCT605	29/ B		OTV	HOM	IInit D.:	Evtonded	Supplier Notes	Manufaatuwa	Manufacturar #
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer								Manufacturer	Manufacturer #
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$11.28 \$22.56 EXACTLY AS SPEC'D 80801 W7732002 301 Gator Skin Soccer Ball Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$9.51 \$19.02 VOIT 44017 USG PG 228 302 Gripper Soccer Ball - 10 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 5 EACH \$13.11 \$65.55 EXACTLY AS SPEC'D 80800 308 Mylec Folding PVC Goal, 54W x 44H x 24D; 7 lb 4 oz., Goal w/Net Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$13.11 \$65.55 EXACTLY AS SPEC'D 80800 308 Mylec Folding PVC Goal, 54W x 44H x 24D; 7 lb 4 oz., Goal w/Net Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$49.41 \$98.82 EXACTLY AS SPEC'D 1065336 310 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes GREEN, PINK, PURPLE, GRANGE, RED, Manufacturer Manufacturer Manufacturer EXACTLY AS SPEC'D 1276459 BLUE, GREEN, PINK, PURPLE, GRANGE, RED,		1 yrannid School I foddets	30	ЕАСП	\$14.23	\$427.31	0 BRINE SBE VOC 1003		
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$11.28 \$22.56 EXACTLY AS SPEC'D 80801 W7732002 301 Gator Skin Soccer Ball Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$9.51 \$19.02 VOIT 44017 USG PG 228 302 Gripper Soccer Ball - 10 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 5 EACH \$13.11 \$65.55 EXACTLY AS SPEC'D 80800 308 Mylec Folding PVC Goal, 54W x 44H x 24D; 7 lb 4 oz., Goal w/Net Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$13.11 \$65.55 EXACTLY AS SPEC'D 80800 308 Mylec Folding PVC Goal, 54W x 44H x 24D; 7 lb 4 oz., Goal w/Net Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$49.41 \$98.82 EXACTLY AS SPEC'D 1065336 310 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes GREEN, PINK, PURPLE, GRANGE, RED, Manufacturer Manufacturer Manufacturer EXACTLY AS SPEC'D 1276459 BLUE, GREEN, PINK, PURPLE, GRANGE, RED,	300 G	rinner Rall & Soccerhall							
BSN Sports, Passon's Sports & US Games 2 EACH \$11.28 \$22.56 EXACTLY AS SPEC'D 80801 W7732002 301 Gator Skin Soccer Ball Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$9.51 \$19.02 VOIT 44017 USG PG 228 302 Gripper Soccer Ball - 10 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 5 EACH \$13.11 \$65.55 EXACTLY AS SPEC'D 80800 308 Mylec Folding PVC Goal, 54W x 44H x 24D; 7 lb 4 oz, Goal w/Net Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$49.41 \$98.82 EXACTLY AS SPEC'D 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$49.41 \$98.82 EXACTLY AS SPEC'D 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games GTP, PINK, PURPLE, ORANGE, RED, BSN Sports, Passon's Sports & US GREEN, PINK, PURPLE, ORANGE, RED,	300 0		OTY	LIOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
Games 2 EACH \$11.28 \$22.56 EXACTLY AS SPECD 80801 W7732002 301 Gator Skin Soccer Ball Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer			Q11	00111	ome i rec	Latended	- PF		manufacturer m
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer			2.	EACH	\$11.28	\$22.50	6 EXACTLY AS SPEC'D 80801	W7732002	
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$9.51 \$19.02 VOIT 44017 USG PG 228 302 Gripper Soccer Ball - 10 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 5 EACH \$13.11 \$65.55 EXACTLY AS SPEC'D 80800 308 Mylec Folding PVC Goal, 54W x 44H x 24D; 7 lb 4 oz, Goal w/Net Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$49.41 \$98.82 EXACTLY AS SPEC'D 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 EXACTLY AS SPEC'D 1065336			_	2.1011	¥11.20	\$22.0	V	,,52002	
BSN Sports, Passon's Sports & US Games 2 EACH \$9.51 \$19.02 VOIT 44017 USG PG 228 302 Gripper Soccer Ball - 10 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 5 EACH \$13.11 \$65.55 EXACTLY AS SPEC'D 80800 308 Mylec Folding PVC Goal, 54W x 44H x 24D; 7 lb 4 oz, Goal w/Net Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$49.41 \$98.82 EXACTLY AS SPEC'D 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games QTY UOM Unit Price Extended Supplier Notes Manufacturer EXACTLY AS SPEC'D 1065336 Manufacturer Manufacturer EXACTLY AS SPEC'D 1276459 BLUE, GREEN, PINK, PURPLE, ORANGE, RED,	301 G	ator Skin Soccer Ball							
Games 2 EACH \$9.51 \$19.02 VOIT 44017 USG PG 228 302 Gripper Soccer Ball - 10 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 5 EACH \$13.11 \$65.55 EXACTLY AS SPEC'D 80800 308 Mylec Folding PVC Goal, 54W x 44H x 24D; 7 lb 4 oz, Goal w/Net Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$49.41 \$98.82 EXACTLY AS SPEC'D 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer EXACTLY AS SPEC'D 1065336 314 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer EXACTLY AS SPEC'D 1276459 BLUE, GREEN, PINK, PURPLE, ORANGE, RED,	<u> </u>	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
302 Gripper Soccer Ball - 10 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 5 EACH \$13.11 \$65.55 EXACTLY AS SPEC'D 80800 Supplier Notes Supplier QTY UOM Unit Price Extended Supplier Notes Supplier Notes Manufacturer Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$49.41 \$98.82 EXACTLY AS SPEC'D 1065336 Supplier QTY UOM Unit Price Extended Supplier Notes Supplier Manufacturer Supplier QTY UOM Unit Price Extended Supplier Supplier Supplier QTY UOM Unit Price Extended Supplier S		BSN Sports, Passon's Sports & US							
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 5 EACH \$13.11 \$65.55 EXACTLY AS SPEC'D 80800 308 Mylec Folding PVC Goal, 54W x 44H x 24D; 7 lb 4 oz, Goal w/Net Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$49.41 \$98.82 EXACTLY AS SPEC'D 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer EXACTLY AS SPEC'D 1065336 314 Speed Stacks, Stacking Cups - 12/SET, Specify Color EXACTLY AS SPEC'D 1276459 BLUE, BSN Sports, Passon's Sports & US GREEN, PINK, PURPLE, ORANGE, RED,		Games	2	EACH	\$9.51	\$19.00	2 VOIT 44017 USG PG 228		
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 5 EACH \$13.11 \$65.55 EXACTLY AS SPEC'D 80800 308 Mylec Folding PVC Goal, 54W x 44H x 24D; 7 lb 4 oz, Goal w/Net Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$49.41 \$98.82 EXACTLY AS SPEC'D 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer EXACTLY AS SPEC'D 1065336 314 Speed Stacks, Stacking Cups - 12/SET, Specify Color EXACTLY AS SPEC'D 1276459 BLUE, BSN Sports, Passon's Sports & US GREEN, PINK, PURPLE, ORANGE, RED,									
BSN Sports, Passon's Sports & US Games 5 EACH \$13.11 \$65.55 EXACTLY AS SPEC'D 80800 308 Mylec Folding PVC Goal, 54W x 44H x 24D; 7 lb 4 vz, Goal w/Net Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$49.41 \$98.82 EXACTLY AS SPEC'D 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer EXACTLY AS SPEC'D 1065336 Manufacturer Manufacturer EXACTLY AS SPEC'D 1276459 BLUE, GREEN, PINK, PURPLE, ORANGE, RED,	302 G								
Games 5 EACH \$13.11 \$65.55 EXACTLY AS SPEC'D 80800 308 Mylec Folding PVC Goal, 54W x 44H x 24D; 7 lb 4 oz, Goal w/Net Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$49.41 \$98.82 EXACTLY AS SPEC'D 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer EXACTLY AS SPEC'D 1276459 BLUE, GREEN, PINK, PURPLE, ORANGE, RED,		Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
308 Mylec Folding PVC Goal, 54W x 44H x 24D; 7 lb 4 oz, Goal w/Net Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$49.41 \$98.82 EXACTLY AS SPEC'D 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer EXACTLY AS SPEC'D 1276459 BLUE, BSN Sports, Passon's Sports & US GREEN, PINK, PURPLE, ORANGE, RED,		BSN Sports, Passon's Sports & US							
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$49.41 \$98.82 EXACTLY AS SPEC'D 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer EXACTLY AS SPEC'D 1276459 BLUE, BSN Sports, Passon's Sports & US GREEN, PINK, PURPLE, ORANGE, RED,		Games	5	EACH	\$13.11	\$65.5	5 EXACTLY AS SPEC'D 80800		
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US Games 2 EACH \$49.41 \$98.82 EXACTLY AS SPEC'D 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer EXACTLY AS SPEC'D 1276459 BLUE, BSN Sports, Passon's Sports & US GREEN, PINK, PURPLE, ORANGE, RED,									
BSN Sports, Passon's Sports & US Games 2 EACH \$49.41 \$98.82 EXACTLY AS SPEC'D 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes EXACTLY AS SPEC'D 1276459 BLUE, BSN Sports, Passon's Sports & US GREEN, PINK, PURPLE, ORANGE, RED,	308 M								
Games 2 EACH \$49.41 \$98.82 EXACTLY AS SPEC'D 1065336 313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer EXACTLY AS SPEC'D 1276459 BLUE, BSN Sports, Passon's Sports & US EXACTLY AS SPEC'D 1276459 BLUE, GREEN, PINK, PURPLE, ORANGE, RED,			QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
313 Speed Stacks, Stacking Cups - 12/SET, Specify Color Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer EXACTLY AS SPEC'D 1276459 BLUE, BSN Sports, Passon's Sports & US GREEN, PINK, PURPLE, ORANGE, RED,		-							
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer EXACTLY AS SPEC'D 1276459 BLUE, BSN Sports, Passon's Sports & US EXECUTED 1276459 BLUE, GREEN, PINK, PURPLE, ORANGE, RED,		Games	2	EACH	\$49.41	\$98.82	2 EXACTLY AS SPEC'D 1065336		
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer EXACTLY AS SPEC'D 1276459 BLUE, BSN Sports, Passon's Sports & US EXECUTED 1276459 BLUE, GREEN, PINK, PURPLE, ORANGE, RED,									
EXACTLY AS SPEC'D 1276459 BLUE, BSN Sports, Passon's Sports & US GREEN, PINK, PURPLE, ORANGE, RED,	313 S						G P N A		3.5
BSN Sports, Passon's Sports & US GREEN, PINK, PURPLE, ORANGE, RED,		Supplier	QTY	UOM	Unit Price	Extended		Manufacturer	Manufacturer #
Games 2 SET \$15.82 \$31.64 YELLOW		•			***	***			
		Games	2	SET	\$15.82	\$31.6	4 YELLOW		

315 Fini	is Agility Hand Paddle, Kiefer Swim Sh	10p 800020	0					
<u> </u>	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	5	EACH	\$10.86	\$54.3	30 SPEEDO SP7753019 BSN PG 286		
317 Swi	m Cap, Latex, 930050-Keifer							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	5	EACH	\$2.72	\$13.6	60 SPEEDO SP71239 PG 286		
319 Ten	nnis Balls Heavy Duty-Yellow							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
						DUNLOP CHAMPIONSHIP - (LAUX		
	Laux Sporting Goods, Inc	12	DOZEN	\$8.93	\$107.1	16 #D601349)		
220 1~ :								
320 Stig	ga Prestige Table Tennis Table, has 1 To			•	-		7.5	35 0
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US							
	Games	1	EACH	\$533.46	\$533.4	46 STIGA STS185 1375127 USG PG 188		
201 77	. D. U.D. 1							
321 Ten	nis Ball Basket, Hold 75 balls	OTN	HOM	TI L D I		Cumplica Notes	M. C. d	N # C
	Supplier P. J. G. A. & H.G.	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US	1	EACH	\$22.72	¢22.5	72 LISC 1662 DC 252 HOLDS 25 DALLS		
	Games	1	EACH	\$22.72	\$22.7	72 USG 1663 PG 253 HOLDS 85 BALLS		
224 Adu	ult Tennis Raquet (27 L)							
324 Au	Supplier	OTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturar	Manufacturer #
	BSN Sports, Passon's Sports & US	ŲII	COM	Omit i rice	Extended	Supplier rotes	Manufacturer	Wianulacturer #
	Games	17	EACH	\$12.17	\$206.8	39 EXACTLY AS SPEC'D 1393401		
	Guines	1 /	Liten	Ψ12.17	Ψ200.0	5) Extreme 181 185 51 Ee B 1373 101		
325 Tab	ole Tennis Balls - General Purpose, 6 pe	r Pack						
222 140	Supplier Supplier	OTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	BSN Sports, Passon's Sports & US				23.rearded	**		
	Games	30	PACK	\$0.82	\$24.6	60 EXACTLY AS SPEC'D 1035605		
		20	111011	\$0.0 2	ψ2	,,, =		
326 Vol	levballs							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	Pyramid School Products	17	EACH	\$24.50		50 TACHIKARA SVSWS	Tachikara	SV5W
328 Voll	ley-Lite Volleyball, Sensi-Tec composite	e cover, W	eighs 30% les	ss than a regulation ball				
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
	Pyramid School Products	17	EACH	\$20.20	\$343.4		Tachikara	SV-MN
	•							

Physical Education Supplies Catalog WFL 2021-09

upplier SN Sports, Passon's Sports & US sames pe 1 X 60 Yds., Specify Color upplier	QTY 4	UOM EACH	Unit Price \$7.46	Extended	Supplier Notes	Manufacturer	Manufacturer #
pe 1 X 60 Yds., Specify Color	4	EACH	\$7.46	***			
pe 1 X 60 Yds., Specify Color	4	EACH	\$7.46	AAA			
			47	\$29.84	EXACTLY AS SPEC'D VOIT 5806		
иррпег	QTY	UOM	II '4 D '	F (1.1	Supplier Notes	M f4	M
	QIY	UOM	Unit Price	Extended		Manufacturer	Manufacturer #
0.C W14:4-	76	DED DOLL	#2.01	0150.76	S&S W4539 COLORS: BLACK, WHITE,		
&S Worldwide	76	PER ROLL	\$2.01	\$152.76	BLUE, GREEN, RED, YELLOW		
tch #725XP, Accu-Split							
upplier .	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
aux Sporting Goods, Inc	21			\$310.59			
,			•	•			
pe 2 X 60 Yds., Specify Color							
upplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
					EXACTLY AS SPEC'D 2164 BLACK,		
SN Sports, Passon's Sports & US					WHITE, RED, YELLOW, ORANGE, GREE,		
ames	32	EACH	\$3.78	\$120.96	BLUE, PURPLE.96		
o 2 V 94!							
	OTV	LIOM	Unit Prica	Extended	Supplier Notes	Manufacturer	Manufacturer #
	QII	OOM	Omt i rec	Extended	ж аррист 1,000	Manufacturer	Wandacturer #
	10	FACH	\$4.13	\$41.30	EXACTLY AS SPECID 6411		
	10	LACH	ψπ.13	ψ+1.50	Entre El Tio di Le D VIII		
histle							
upplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
SN Sports, Passon's Sports & US							
ames	13	DOZEN	\$15.14	\$196.82	EXACTLY AS SPEC'D 773062		
	_			Extended	Supplier Notes	Manufacturar	Manufacturar #
	VII	UUM	Unit Price	Extended	Supplier Ruies	wianuiacturer	wianuiacturer #
	107	DOZEN	00.76	#205.33	EVACTI V AS SDECID 772000		
rames	107	DOZEN	\$2.76	\$295.32	EXACILY AS SPECD //3000		
HO Anchor Station Packs. Pack inc	cludes 5	ropes and 1 station	n 2" dia Warrior800(Alternates Allow	ved)		
upplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
					REACTOR 1375090 - 1369624 USG PG 157		
SN Sports, Passon's Sports & US							
dames	1	PACKS	\$479.99	\$479.99	DIA, 30' LONG		
e u Saa hu Saa Hu	pplier ux Sporting Goods, Inc pe 2 X 60 Yds., Specify Color pplier SN Sports, Passon's Sports & US ames 3 X 84' pplier SN Sports, Passon's Sports & US ames sistle pplier SN Sports, Passon's Sports & US ames (sold without whisles), Black, whi pplier SN Sports, Passon's Sports & US ames (sold without whisles), Black, whi pplier SN Sports, Passon's Sports & US ames HQ Anchor Station Packs. Pack in	pplier QTY ux Sporting Goods, Inc 21 pe 2 X 60 Yds., Specify Color upplier QTY SN Sports, Passon's Sports & US umes 32 star X 84' upplier QTY SN Sports, Passon's Sports & US umes 10 sistle upplier QTY SN Sports, Passon's Sports & US umes 13 sistle upplier QTY SN Sports, Passon's Sports & US umes 13 star A Sports, Passon's Sports & US umes 13 star A Sports, Passon's Sports & US umes 107 star A Sports, Passon's Sports & US umes 107 star A Sports, Passon's Sports & US umes 107	pplier QTY UOM ux Sporting Goods, Inc 21 EACH De 2 X 60 Yds., Specify Color pplier QTY UOM SN Sports, Passon's Sports & US ames 32 EACH SN Sports, Passon's Sports & US ames 10 EACH SN Sports, Passon's Sports & US ames 10 EACH SN Sports, Passon's Sports & US ames 13 DOZEN A (sold without whisles), Black, white, scarlet, kelly, royal, may applier QTY UOM SN Sports, Passon's Sports & US ames 13 DOZEN A (sold without whisles), Black, white, scarlet, kelly, royal, may applier QTY UOM SN Sports, Passon's Sports & US ames 107 DOZEN HQ Anchor Station Packs. Pack includes 5 ropes and 1 station applier QTY UOM	pplier QTY UOM Unit Price ux Sporting Goods, Inc 21 EACH \$14.79 be 2 X 60 Yds., Specify Color pplier QTY UOM Unit Price SN Sports, Passon's Sports & US umes 32 EACH \$3.78 3 X 84' pplier QTY UOM Unit Price SN Sports, Passon's Sports & US umes 10 EACH \$4.13 sistle pplier QTY UOM Unit Price SN Sports, Passon's Sports & US umes 13 DOZEN \$15.14 g, (sold without whisles), Black, white, scarlet, kelly, royal, maroon and gold pplier QTY UOM Unit Price SN Sports, Passon's Sports & US umes 13 DOZEN \$15.14 g, (sold without whisles), Black, white, scarlet, kelly, royal, maroon and gold pplier QTY UOM Unit Price SN Sports, Passon's Sports & US umes 107 DOZEN \$2.76 EQ Anchor Station Packs. Pack includes 5 ropes and 1 station 2" dia Warrior800(pplier QTY UOM Unit Price	pplier QTY UOM Unit Price Extended ux Sporting Goods, Inc 21 EACH \$14.79 \$310.59 De 2 X 60 Yds., Specify Color	pplier QTY UOM Unit Price Extended Supplier Notes ux Sporting Goods, Inc 21 EACH \$14.79 \$310.59 LAUX #AX725 se 2 X 60 Yds., Specify Color upplier QTY UOM Unit Price Extended Supplier Notes EXACTLY AS SPEC'D 2164 BLACK, WHITE, RED, YELLOW, ORANGE, GREE, we see a Sports & US unit Sports, Passon's Sports & US uni	pplier QTY UOM Unit Price Extended Supplier Notes Manufacturer ux Sporting Goods, Inc 21 EACH \$14.79 \$310.59 LAUX #AX725 E2 X 60 Yds., Specify Color upplier QTY UOM Unit Price Extended Supplier Notes Manufacturer EXACTLY AS SPEC'D 2164 BLACK, WHITE, RED, YELLOW, ORANGE, GREE, WHITE, RED, YELLOW, ORANGE, WHITE, RED, YELLOW, WHITE, REACTOR 1375090 - 1369624 USG PG 157

Supplier QIV LOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specially, Inc. 9 EACH S112.49 S224.98 STATION ONLYH 333 Medicine Ball 6-7 lbs. Supplier QIV UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specially, Inc. 9 EACH S12.04 S108.36 1017/67 344 Medicine Ball, 1-1-12 lbs. Supplier QIV UOM Unit Price Extended Supplier Notes Manufacturer Manufact BBN Sports, Passon's Sports & US Games QIV UOM Unit Price Extended Supplier Notes Manufacturer Manufact Specially, Inc. 9 EACH S25.97 S7.91 EXACTLY AS SPECID 1266269 355 [Champion Barbell Rubber Medicine Ball, 13.2 lb Green, Textured rubber oever, Air filled SBN Sports, Passon's Sports & US Games	352 Warrior HQ Anchor Station Packs. Pa	ck includes 5	opes and 1 s	tation. Anchor Station On	lv			
BSN Sports, Passor's Sports & US Games 2 EACH \$112.49 \$224.98 STATION ONLYH			•		•	Supplier Notes	Manufacturer	Manufacture
Section Sect							OR	
Manufacturer Manu	-		EACH	\$112.49	\$224.98	STATION ONLYH		
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 9 EACH \$12.04 \$108.36 1017767 354 Medicine Ball, 11-12 lbs. Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games 3 EACH \$14.96 \$44.88 EXACTLY AS SPECD 1266269 355 Champion Barbell Rubber Medicine Ball, 13.2 lb Green, Textured rubber oever, Air filled Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games 3 EACH \$25.97 \$77.91 EXACTLY AS SPECD 1266337 366 UltraFit Performer Medicine Ball - 10 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$32.40 \$97.20 2041218 AEROMAT 377 UltraFit Performer Medicine Ball - 10 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$36.82 \$110.46 2041213 AEROMAT 388 UltraFit Performer Medicine Ball - 12 lbs School Specialty, Inc. 3 EACH \$34.24 \$123.72 2041215 AEROMAT 389 UltraFit Performer Medicine Ball - 12 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$34.24 \$123.72 2041215 AEROMAT 380 UltraFit Performer Medicine Ball - 12 lbs Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$34.24 \$123.72 2041215 AEROMAT 381 UltraFit Performer Medicine Ball - 12 lbs Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$35.86 \$55.76 USG 1539 PG 287 385 UltraFit Performer Medicine Ball - 12 lbs Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$35.76 \$55.76 USG 1539 PG 287 386 UltraFit Performer Medicine Ball - 12 lbs Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$35.876 \$55.76 USG 1539 PG 287				•	•			
School Specialty, Inc. 9 EACH \$12.04 \$108.36 1017767								
Manufacturer Manufact	_ ^ ^	QTY	UOM	Unit Price			Manufacturer	Manufacture
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games 3 EACH \$14.96 \$44.88 EXACTLY AS SPECID 1266269 355 [Champion Barbell Rubber Medicine Ball, 13.2 lb Green, Textured rubber oever, Air filled Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games 3 EACH \$25.97 \$77.91 EXACTLY AS SPECID 1266337 366 [UltraFit Performer Medicine Ball - 8 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer School Specialty, Inc. 3 EACH \$32.40 \$97.20 2041218 AEROMAT 357 [UltraFit Performer Medicine Ball - 10 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier School Specialty, Inc. 3 EACH \$36.82 \$110.46 2041213 AEROMAT 358 [UltraFit Performer Medicine Ball - 12 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$36.82 \$110.46 2041213 AEROMAT 365 [UltraFit Performer Medicine Ball - 12 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer School Specialty, Inc. 3 EACH \$41.24 \$12.37.2 2041215 AEROMAT 366 [Heavy Duty Ball Pump - Portable, Runs on standard 110s AC power, Inflates up to 40 PSI maximum School Specialty, Inc. QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games 1 EACH \$55.76 \$55.76 USG 1539 PG 287	School Specialty, Inc.	9	EACH	\$12.04	\$108.36	5 1017767		
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games 3 EACH \$14.96 \$44.88 EXACTLY AS SPECID 1266269 355 [Champion Barbell Rubber Medicine Ball, 13.2 lb Green, Textured rubber oever, Air filled Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games 3 EACH \$25.97 \$77.91 EXACTLY AS SPECID 1266337 366 [UltraFit Performer Medicine Ball - 8 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier School Specialty, Inc. 3 EACH \$32.40 \$97.20 2041218 AEROMAT 377 [UltraFit Performer Medicine Ball - 10 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$36.82 \$110.46 2041213 AEROMAT 378 [UltraFit Performer Medicine Ball - 12 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$41.24 \$123.72 2041215 AEROMAT 388 [UltraFit Performer Medicine Ball - 12 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer School Specialty, Inc. 3 EACH \$41.24 \$123.72 2041215 AEROMAT 389 [UltraFit Performer Medicine Ball - 12 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer School Specialty, Inc. 3 EACH \$41.24 \$123.72 2041215 AEROMAT 380 [UltraFit Performer Medicine Ball - 12 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 555.76 USG 1539 PG 287 389 [Secretia Ball, 21 1/2 D Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact	354 Medicine Ball, 11-12 lbs.							
BSN Sports, Passon's Sports & US Games 3 EACH \$14.96 \$44.88 EXACTLY AS SPECD 1266269 555 Champion Barbell Rubber Medicine Ball, 13.2 Ib Green, Textured rubber oever, Air filled Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games 3 EACH \$25.97 \$77.91 EXACTLY AS SPECD 1266337 566 UltraFit Performer Medicine Ball - 8 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$32.40 \$97.20 2041218 AEROMAT 570 UltraFit Performer Medicine Ball - 10 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact		OTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
Same 3 EACH \$14.96 \$44.88 EXACTLY AS SPECD 1266269				o mic i ricc	Datenaca	**		
Supplier			EACH	\$14.96	\$44.88	EXACTLY AS SPEC'D 1266269		
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games 3 EACH \$25.97 \$77.91 EXACTLY AS SPECD 1266337 356 UltraFit Performer Medicine Ball - 8 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$36.82 \$110.46 2041213 AEROMAT 358 UltraFit Performer Medicine Ball - 12 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$41.24 \$123.72 2041215 AEROMAT 369 Heavy Duty Ball Pump - Portable, Runs on standard 110v AC power. Inflates up to 40 PSI maximum Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Games 1 EACH \$55.76 \$55.76 USG 1539 PG 287 369 Exercise Ball, 21 1/2 D Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufactu		J	Liteii	ψ11.90	\$11. 00	,		
BSN Sports, Passon's Sports & US Games 3 EACH \$25.97 \$77.91 EXACTLY AS SPECD 1266337 356 UltraFit Performer Medicine Ball - 8 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$32.40 \$97.20 2041218 AEROMAT 357 UltraFit Performer Medicine Ball - 10 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$36.82 \$110.46 2041213 AEROMAT 358 UltraFit Performer Medicine Ball - 12 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$41.24 \$123.72 2041215 AEROMAT 365 Heavy Duty Ball Pump - Portable, Runs on standard 110v AC power. Inflates up to 40 PSI maximum Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games 1 EACH \$55.76 \$55.76 USG 1539 PG 287 369 Exercise Ball, 21 1/2 D Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US			een, Texture	d rubber ocver, Air filled				
Games 3 EACH \$25.97 \$77.91 EXACTLY AS SPEC'D 1266337			UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact	BSN Sports, Passon's Sports & U	S						
Supplier School Specialty, Inc. Supplier School Specialty, Inc. Supplier	Games	3	EACH	\$25.97	\$77.91	EXACTLY AS SPEC'D 1266337		
Supplier School Specialty, Inc. Supplier School Specialty, Inc. Supplier	356 UltraFit Performer Medicine Ball - 8 ll	bs						
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact			UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$36.82 \$110.46 2041213 AEROMAT Supplier Medicine Ball - 12 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$41.24 \$123.72 2041215 AEROMAT Manufacturer Manufact School Specialty, Inc. 3 EACH \$41.24 \$123.72 2041215 AEROMAT Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games 1 EACH \$55.76 \$55.76 USG 1539 PG 287 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US	School Specialty, Inc.	3	EACH	\$32.40	\$97.20	2041218 AEROMAT		
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$36.82 \$110.46 2041213 AEROMAT Supplier Medicine Ball - 12 lbs Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$41.24 \$123.72 2041215 AEROMAT Manufacturer Manufact School Specialty, Inc. 3 EACH \$41.24 \$123.72 2041215 AEROMAT Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games 1 EACH \$55.76 \$55.76 USG 1539 PG 287 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US	357 UltraFit Parformer Medicina Rall - 10	lhe						
School Specialty, Inc. 3 EACH \$36.82 \$110.46 2041213 AEROMAT Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$41.24 \$123.72 2041215 AEROMAT Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games 1 EACH \$55.76 \$55.76 USG 1539 PG 287 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier Supplier Supplier Notes Manufacturer Manufact Supplier Supplier Supplier Notes Manufacturer Manufact Supplier Notes Manufacturer Manufact Supplier Notes Manufacturer Manufact			HOM	Unit Price	Extended	Supplier Notes	Manufacturar	Manufacture
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact		_					Manufacturei	Manufacture
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact School Specialty, Inc. 3 EACH \$41.24 \$123.72 2041215 AEROMAT 365 Heavy Duty Ball Pump - Portable, Runs on standard 110v AC power. Inflates up to 40 PSI maximum Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games 1 EACH \$55.76 \$55.76 USG 1539 PG 287 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact Supplier Notes Manufacturer Manufact Supplier Notes Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US USD USD 1539 PG 287	School Specialty, Inc.	3	LACII	\$30.62	\$110.40	2041213 AEROWAT		
School Specialty, Inc. 3 EACH \$41.24 \$123.72 2041215 AEROMAT 365 Heavy Duty Ball Pump - Portable, Runs on standard 110v AC power. Inflates up to 40 PSI maximum Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games 1 EACH \$55.76 \$55.76 USG 1539 PG 287 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact		lbs						
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer Manufacturer Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufacturer Manufacturer Manufacturer Manufacturer Manufacturer Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer BSN Sports, Passon's Sports & US	_ ^ ^	QTY			Extended	Supplier Notes	Manufacturer	Manufacture
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games 1 EACH \$55.76 \$55.76 USG 1539 PG 287 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US	School Specialty, Inc.	3	EACH	\$41.24	\$123.72	2 2041215 AEROMAT		
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US Games 1 EACH \$55.76 \$55.76 USG 1539 PG 287 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US	365 Heavy Duty Ball Pump - Portable. Rur	ns on standard	110v AC pov	wer. Inflates up to 40 PSI	naximum			
BSN Sports, Passon's Sports & US Games 1 EACH \$55.76 \$55.76 USG 1539 PG 287 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US						Supplier Notes	Manufacturer	Manufacture
Games 1 EACH \$55.76 \$55.76 USG 1539 PG 287 Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US		S						
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US	-		EACH	\$55.76	\$55.76	USG 1539 PG 287		
Supplier QTY UOM Unit Price Extended Supplier Notes Manufacturer Manufact BSN Sports, Passon's Sports & US	369 Evercise Rall 21 1/2 D							
BSN Sports, Passon's Sports & US		OTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacture
			2011	O III T TICC	LACHUCU	E.F.		
	Games	6	EACH	\$5.88	\$35.29	REACTOR 1335880 USG PG 152		

Games

4

EACH

Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
					REACTOR 1375090 - 1369620 USG PG 157		
BSN Sports, Passon's Sports & US					ANCHOR STATION PLUS 5 ROPES - 1.5"		
Games	2	PACKS	\$356.74	\$713.4	8 DIA, 30' LONG		
84 RightStep Pedometers, RightStep 300, mea	sures stei	 ns distance ar	nd calories 76-022- Gont				
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
BSN Sports, Passon's Sports & US							
Games	36	EACH	\$8.61	\$309.9	6 EKHO 1277234 USG PG 136		
91 Plain Yoga Mats, Colors may vary							
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #
S&S Worldwide	36	EACH	\$5.50	\$198.0	0 S&S W7436 PURPLE 68"L X 24"W		
3&3 Wolldwide							
	er excerc	ising, Requires	s 2 AA batteries included	1 - 11 x 17 x 22			
96 CanDo Pedal Exerciser, For upper and low Supplier	ver excerc	ising, Requires	s 2 AA batteries included Unit Price	d - 11 x 17 x 22 Extended	Supplier Notes	Manufacturer	Manufacturer #

\$88.62

\$354.48 EXACTLY AS SPEC'D 1384928